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1. -qfuu~~~~GflG. a{ltf~~g~cfitcfit~3fcmf~~flf)~~fir.:nmt, 

imlfl~l3l'T1fio ~'Sfffll ~~w, ~~t. m~~~~'ff~~, 
2. ~8'lif~~OMR~-~if.~~~,m;r~afR~~cfil~(~ 

•> A, B, C lfT D ~. 8'lif 'ff~ fir.:n ~ ~ lfl fenhtRt ~ ~ afR ~ 'c6f.!r ~ filut~l<l 

'3+.flG<o< ~ t I ~ 1ft' "SfcfiR ~ ~/PcnhtRt cfil' ~ if ~-'q?fqi ~ ~ ~ ~ I 

3. w~~lR~#~~~#3f[q"cfi1"3N-fT I I 
3ljsfi'1i<h ~ t I ~ ~ lR am~~~ I .._ ________ __, 

4. ~~ ~ #120~1 (WR)~~ f I~ Wf-mTfV<nam:~ zyrr#w:rrt I 

~ ~T # 'qR ~ (~) ~ ~ f I~~~~ -q,) ~ ~, m 3lfCr ~-~ lR 

~ cR-TT ~ f I~ 3lfCrcfiT ~ ~ fcfi ~ ~ 3ffl ~-~ f, m ~ ~ -q,) ~~ 
";jjl"3Wrcfil~~ l~~T~~~~it~~t I 

5. 3TT'9"cfiT~~~31WT~~~~-~lR'tt3trc@~i l~-~#~~~TW I 
6. ~ >1mn ~ 3fcfi ~ i I 

7. ~ ~ fcfi 3lfCr iro~ ~~~~IT~~~-~ lR ~ cR-TT ~ ~. 3TT'9"cfiT 
~T wnvr-~ ~~~~TT~ 3fjffi"{ ~ ~ ~-~ # ~ f I 

8. 3lfCr ~ ~ ~-q,) ~-~ # ~ ~ GflG cftTT ,mm~~ lR ~ ~-~ a«ft~ 
qi) 'ffil1 ~ I 3lfCrcfiT ~ ~ ~ ~ ~ -ifR c#;r ~ t I 

9. ~"cfil'1"~~~,ro~~~3Rf#~f I 
10. ~~~~~: 

cttjjf¥166 ~-,rnr if '3i"11~ctt< i:m ~ ~ m=ra ~~~~~~I 
(i) ~WR~~'q'R ~<hM<h ~f I '3Af1Gctl<WU~WR~~~~~~~ 

~~WR~'WIB~~3fcfilcfiT~-~~~~#cfiTc1~ I 

(ii) ~ ~ JAflGctl< Q;qi ~ 3ffl ~ ~ t, mW m:ra "3'ffi: "'1"AT ~' <Rrfq-~ ~ ~ 
# ~ ~ ~ ~ ~ t, m it~~~~ ;;iqgm1j£11< tt '3m ~ cfiT ~ ~ ~ I 

(iii) ~ -ilAflGctl< WU~ WR~~~~ t, ~ '3Ai1Gctl< -l!RT ~ ~ ~-~ t, 
"ffi~WR~~~~~~~ I 

Note : English version of the instructions is printed on the back cover of this Booklet. 
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1. +fA ~A 3TR B, 3x3 ~ ~ ~ 

~ .....A- 1 1 
t! 1 <-tlG IAI=~ iR IBI=- m 

2-v2 . 729' 

j2B( adj(3A) )I cfi1" ~ Wt ? 

(a) 27 

27 
(b) 2✓2 

27 
. (c) 

2 

(d) 1 

2.m z~~m1tam: 
iz3 + z2 -z + i = o, ~ i = R, 
m (lzl+1)2 cfil"~wt? 

(a) 1 

(b) 4 

(c) 81 

(d) 121 

3. ~ 3Tcfi1" 0, 1, 4, 5cfil "WWT cfi<:, 3lcITT cfit 
~~(t~Rt ~ ml ~ ~ -=.ifR 3lcITT 
cITTft ~ m1m cfiT £i1 ◄ t'h~ cFn t ? 

(a) 44440 

(b) 46460 

(c) 46440 

(d) 64440 

RRAN-B-MTH - A 2 

4.mx,y3Wz,~~~f,m 
xy + yz + zxcfiT lfR Wt ? 

(a) 0 

(b) 1 

(c) 2 

(d) 3 

s. ~ ~ ~ 1 fh~h~1< t (4 '1~~1~ am 
3 ~) I ~ ~ ~ 1ft 7 R~ch~t< 
~ (3 'l~~I~ 3TR 4 ~) I it zyn 
3 ~3TT 31R 3 ~ cfil ~ >1cfiT( 

~ f;ttjf?I a cg ~ ~ m ~ ~ 
3 ft~aGt< ~ ~ m atR 3 ft~aGt< ~ 
~~m? 
(a) 340 

(b) 484 

(c) 485 

(d) 469 

6.~ ~ PQRW WliR tfct; slmT: 

3~PQ~~~t4~QR~ 

~ 3m:5~RP~~~t I l'l 
~ cfiT ~w cfiT ~ ~ cfi<: ~ 
~lTTt~ I WW:tiR~lTTt~ 
cfitm1~t? 

(a) 205 

(b) 206 

. (c) 215 

(d) 220 
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1. Let A and B be matrices of order 3x3. 

If IAI = 
1
~ and IBI = -

1
-, then what 

2-v2 729 

is the value of l2B(adj(3A))I? 

(a) 27 

-27 
(b) 2✓2 

(c) 27 
2 

(d) 1 

2. If z is any complex number and 

iz3 + z2 - z + i = 0, where i = H, then 

what is the value of (lzl + 1)2? 

(a) 1 

(b) 4 

(c) 81 

(d) 121 

3. What is the sum of all four digit 
numbers formed by using all digits 
0, 1, 4, 5 without repetition of digits? 

(a) 44440 

(b) 46460 

(c) 46440 

(d) 64440 

3 

4. If x, y and z are the cube roots of unity, 
then what is the value of xy + yz + zx ? 

(a) 0 

(b) 1 

(c) 2 

(d) . 3 

5. A man has 7 relatives ( 4 women and 
3 men). His wife also has 7 relatives 
(3 women and 4 men). In how many 
ways can they invite 3 women and 
3 men so that 3 of them are man's 
relatives and 3 of them are his wife's 
relatives? 

(a) 340 

(b) 484 

(c) 485 

(d) 469 

6. A triangle PQR is such that 3 points 
lie on the side PQ, 4 points ·on QR and 
5 points on RP respectively. Triangles 
are constructed using these points 
as vertices. What is the number of 
triangles so formed ? 

(a) 205 

(b) 206 

(c) 215 

(d) 220 

A-RRAN-B-MTH 
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7. ~ logba = p, logdc = 2p 3ITT 
I 

Zog1e = 3p, m (ace)P ~ ~ t ? 

(a) bd2j3 

(b) bdf 

(c) b3d2j 

(d) b2d2f2 

8. ~ ~sflcfr(OI 

a0 + a1x + ai-X2 + a3x3 + x4 = 0 ~ ~ 
--fi 3W:. ✓3 t, ~ a0, a 1, a2, a3 

~ t m PlkfR-lf©a -q "ij" m--m 
~t? · 

(a) a2 = a3 = 0 . 

(b) a2 = 0 3ITT a3 = -:-5 

(c) a0 = 6, -a3 = 0 

(d) a 1 = 0 3ITT a2 = 5 

9. lTT'1 ~ Z1 3ITT Z2 W >fcfiR cfiT GT 

~ ~ t cfiT z1+z2 =1, m 

(a) -1 

(b) 0 

(c) 1 

(d) 5 

RRAN-B-MTH - A 

. zl -Zz 

4 

10. ~ 26! = n8k, ~ k 3ITT n ~ii'i?lfcfi t, 
GT kq;r ~llR~t? 

(a) 6 

(b) 7 

(c) 8 

(d) 9 -

11. m W n ~ GT oq:_&,'-iOnlf ~ 
A 31R B ~ ~ -q HkfR-lf©a ~ 
-q"{f<RR~: 

1. adj(AB) = (adjA)(adjB) 

2. adj(AB) = adj(BA) 

3. (AB)adj(AB) - IABIIn, n W ·cfil 

~~~~t 

(b) w.@~~ 
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7. If /ogba = p, logdc = 2p and log1e = 3p, 
J. 

then what is (ace)P equal to? 

(a) bd3/3 

(b) bdf 

8. If --fi. and --/3 are roots of the equa­
tion a0 + a1x + ai:x2 + a3x3 + x4 = 0 
where a0, a 1, a2, a3 are integers, then 
which one of the following is correct ? 

(a) a2 = a3 = 0 

(b) a2 = 0 and a3 = -5 

(c) a0 = 6, a3 = 0 

(d) a1 = 0 and a2 = 5 

9. Let z1 and z2 be two complex numbers 

Zt +z2 such that 1-~~1 = 1, then what is 
ZJ -z2 

Re( :: ) + I equal to ? 

(a) -1 

(b) 0 

(c) 1 

(d) 5 

5 

10. If 26! = n8k, where k and n are positive 
integers, then what is the maximum 
value of k? 

(a) 6 

(b) 7 

(c) 8 

(d) 9 

11. Consider the following statements in 
respect of two non-singular matrices 
A and B of the same order n : 

l. adj(AB) = (adjA)(adjB) 

2. adj(AB) = adj(BA) 

3. (AB)adj(AB) - I AB jln IS a null 
matrix of order n 

How many of the above statements are 
correct? 

(a) None 

(b) Only one statement 

( c) Only two statements 

· ( d) All three statements 

A - RRAN-B-MTH 
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12. q;rfz n ~ oJ{dfiJ.IOnll ~ A ~ ~ 
-ij PtkiR-lfurn ~ "G\ ~ ~ : 

1. A(adjA1) = A(adjA)7 

2. ~ A2 = A, m A q;)ft n cfiT actiJ.ii:h 

~t 

3. ~ A3 = A, m A cfl1R n cfiT actiJ.icfi 

~t 

~~-ij~<WJ-~~t? 

(a) ~ 1 3ITT 2 

(b) ~ 2 3ITT 3 

(c) ~ l 3ITT 3 

(d) 1, 2 3ITT 3 

13.-=.fR3l"i:hlcfil~~~mn:tt 
~ ~ 3rcfi ~ m ? 

(a) 625 

(b) 500 

(c) 400 

(d) 256 

14. ~ co:;e 1, ~ cfiT ~ t, <TT 

(z - 100)3 + 1000 = 0 ~ ~ W t ? 

(a) 10(1 - co), 10(10- co 2), 100 

(b) 10(10- co), 10(10- co 2), 90 

RRAN-B-MTH - A 6 

(c) 10(1 - co), 10(10- co2), 1000 

(d) (1 + co), (10 + co2), -1 

15. (1 + i)4 + (1 - i)4 ~ ~ t, ~ 
i=✓-1 t? 

(a) 4 

(b) 0 

(c) -4 

(d) -8 

16. q;)-fz 3 ~ ~ ~ ~J.i~a ~A~ 
~ -ij PtkiR-lR9a ~ "G\ ~ 

«fl~(( : 

2. ~ ~ ~ ~ ~ cfiT 

414il.fi(1 · ~~ t I 

(a) ~ 1 3ITT 2 

(b) ~ 2 3ITT 3 

(c) ~ l 3ITT 3 

(d) 1, 2 3ITT 3 
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\ 

12. Consider the following statements in 
respect of a non-singular matrix A of 
order n: 

1. A(adjA1) = A(adjAf 

2. If A2 = A, then A is identity matrix 
of order n 

3. If A3 = A, then A is identity matrix 
of order n 

Which of the statements given above 
are correct ? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

. 13. How many four-digit natural numbers 
are there such that all of the digits are -
even? 

(a) 625 

(b) 500 

(c) 400 

(d) 256 

14. If m -:t:- 1 is a cube root of unity, 
then what are the solutions of 
(z - 100)3 + 1000 = 0 ? 

· (a) 10(1 - co), 10(10- co2), 100 

(b) 10(10 - co), 10(10 - co2), 90 

7 

(c) 10(1 - co), 10(10- co2), 1000 

(d) (1 + co), (10 + co2), -1 

15. What is (1 + i)4 + (1 - i)4 equal to, 

where i=H? 

(a) 4 

(b) 0 

(c) -4 

(d) -8 

16. Consider the following statements in 
respect of a skew-symmetric matrix A 
of order 3 : 

1. All diagonal elements are zero. 

2. The sum of all the . diagonal 
elements of the matrix is zero. 

3. A is orthogonal matrix. 

Which of the statements given above 
are correct ? 

(a) 1 and 2 only 

(b) 2 and "3 only .. , 

(c) 1 and 3 only 

(d) 1, 2 and 3 

A - RRAN-B-MTH 
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17. ~ 1, 2, 3, 5 q;r >l7WT cg 3fcfil cfiT 
'.!•-Rl~M ~ ~ ~ ~ ~ 
~~t i ~~~~4~ 
Pc!~IMd m1ft? 

(a) 120 

(b) 24 

(c) 12 

(d) 6 

1s. ~ 2120 ~ 1 ~ Pct~1Ma ~ ~ m 
~~it1IT? 

(a) 1 

(b) 3 

(c) 5 

(d) 6 

19. n ~ ~ m;, ~ ~ tm:fu1cti 

C(9,4) C(9,3) C(lO,n-2) 

C(ll,6) C(ll,5) C(12,n) . = 0, 

C(m,7) C(m,6) C(m+l,n+l) 

~m>n~fui:!:? 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

RRAN-B-MTH - A 8 

cosC sinB 0 

tanA 0 sinB cnT 

0 tan(B + C) cosC 

lfR wt ? 

(a) -1 

(b) 0 

(c) 1 

(d) 3 

21. SIP.IN. 1, 2, 3, 4 q;r >l7WT cg ~ 

~ # 4 SI fc!R_4l .c:fffi ~ ftffi" 
~ ~ -ifl ~ t ('.!-1<1~fu cfiT 
3fTITTft)? 
(a) 72 

(b) 216 

(c) 254 

(d) 768 

22.llR~A={xeR: -l<x<l}"tl 

HkiR-lrna # cfiR-m/cfiR-~ A~ m 
1R ~ '1il-ajl<,1 ~ t/t ? 

1. f (x) = xlxl 
2. g(x) = cos(nx) 

~ ~ ~ ~ q;r >l7WT cg ~ '3m: 

~: 

(a) ~1 

(b) ~2 

(c) (3Th:2~ 

c d) ., m 1, ., m 2 
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17. Four digit nwnbers are formed by 
using the digit~ 1, 2, 3, 5 without 
repetition of digits. How many of them 
are divisible by 4 ? 

(a) 120 

(b) 24 

(c) . 12 

(d) 6 

18. What is the remainder when 2120 is 
divided by 7 ? 

(a) 1 

(b) 3 

(c) 5 

(d) 6 

19. For what value of n is the determinant 

C(9,4) C(9,3) C{lO,n -2) . 

C(ll,6) C(ll,5) C(12,n) = 0 

C(m,7) C(m,6) C(m+l,n+l) 

for every m > n ? 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

9 

20. If ABC is a triangle, then what is the . 
value of the determinant 

cosC 

tanA 

sinB 

0 

0 

sinB ? 

0 tan(B+C) cosC 

(a) -1 

(b) 0 

(c) 1 

(d) 3 

21. What 1s the nwnber of different 
matrices, each having 4· entries that can 
be formed using 1, 2, 3, 4 (repetition is 
allowed)? 

(a) 72 

(b) 216 

(c) 254 

(d) 768 

22. Let A= {x ER: -1 <x < l}. Which of 
the following.is/ are bijective functions 
from A to itself? · 

1. f (x) = xlxl 
2. g(x) = cos(nx) 

Select · the correct answer usmg the 
code given below : 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

A - RRAN-B-MTH 
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23. Tf"R~ R~ ~ (-1, 1) 1:R~ 

m t 3ITT: R={(x, y): lx+yl<2} 
~ ~ 1rTT t I m HkiR-lf©a -# 
cfii.,-m ~ t? 
(a) R, ~ % 1R '1 m tt~flla, '1 -~ 

~sfil~<h t 
{b) R, ~ 3ITT: tt~flla t- 1R ~sfil~<h 

.=rm t 
(c) R, ~ 3fu: ~sfil~<h t 1R tt~flla 

.=rm t 
(d) R~ ~mt 

24. -M- ~ cfA" 3ITTffi (-f~4l A, B, -C 

~~ 
(A U B) - { (A - B) U (B - A) U (A n B)} 

-~~t? 

(a) fun tl~4 

(b) A 

(c) B 

( d) (A U B) - (A n B) 

25. ~ ~ ABCcfrr ~ a, b, ct, m 
a2 bsinA csinA 

bsinA 1 cos A 

csinA cosA 1 

~~t? 
(a) ~~ 

(b) ~cfiT~ 

(c) _ ~ cfiT 9R~l9 

(d) a2 +b2 +c2 

RRAN-B-MTH - A . 10 

26. ~ a, b, c, AP # t; b, c, d, GP # t; 
c, d, e, HP# t, m HkiR-lf©a # -« 
<hi,,-m/cfii.,-~ ~ t/~ ? 

1. a, c 3W e, GP# t 
1 1 1 .::..~ 

2. -, -, -, GP +1 ~ 
a c e 

~~~~cfiT'WWfcg~~ 

~: 

(a) ~1 

(b) ~2 

(c) l3ITT:2~ 

(d) '1 m 1, '1 ~ 2 

27._logix- l)-=;,/ogz(x-3) ~~~~ 

~t? 
(a) ~~ 

(b) ~ 

(c) GT· 

(d) m,:r 

28. x -~y> 1 ~~' ~ ~ 

log{;) +log,G)- k, <If k 'Iii llA 

~ ~ ~ ~ .:rm m ~ t ? 

(a) -1 

(b) 

(c) 0 

(d) 1 

1 

2 
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23. Let R be a relation on the open interval 
(- 1, 1) and is given by 

R={(x,y): lx+yl<2}. Then which 

one of the following is correct? 

(a) R is reflexive but neither sym­
metric nor transitive 

(b) R is reflexive and symmetric but 
not transitive 

( c) R is reflexive and transitive but 
not symmetric 

( d) R is an equivalence relation 

24. For any three non-empty sets A, B, C, 
what is 
(A U B) - { (A - B) U (B - A) U (A n B)} 
equal to? 

(a) Null set 

(b) A 

(c) B 

( d) (A U B) - (A n B) 

25. If a, b, c are the sides of triangle ABC, 
then what is 

a 2 bsinA csinA 

bsinA 1 cos A equal to ? 

csinA cosA 1 

(a) Zero 

(b) Area of triangle 

( c) Perimeter of triangle 

11 

26. If a, b, c are in AP; b, c, d are in GP; 
c, d, e are in HP, then which of the 
following is/ are correct ? 

l. a, c and e are in GP 

1 1 1 . 
2. -, -, - are in GP 

a <; e 

Select the correct answer 
code given below : 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 
.. 

(d) Neither 1 nor 2 

usmg the 

27. What is the number of solutions of 
logix- 1) = logi(x- 3)? 

(a) Zero 

(b) One 

(c) Two 

(d) Three 

28. For x ~ y > l, 

let /ogx( ;) + logt) - k, 

then the value of k can never be equal 
to 

(a) -1 

(b) 

(c) 0 

(.d) 1 

1 

2 

A-RRAN-B-MTH 
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29. ~ A= cos20 2sin0cos0 0 , "fil 
[

sin20 2sin
2

0-1 OJ 

. 0 0 1 

PtkiR-lt©a 'ij ~ cWf-m/cWf-~ ~ 
~ t/t ? 

(a) ~1 

(b) 1 3ITT: 2 

(c) 1 am: 3 

(d) 2 am: 3 

w( 1)~ · 30. (1-x2
) 2-x2

- x 2 ~~ll x10 

cfiT ~ cflfT t ? 

(a) - 1 

(b) 1 

(c) 10 

RRAN-B-MTH - A 12 

( l)n 5 
31. ~ mx+ x ~m:RUT ll 4th~ 2 t, 

m mn cfiT 1lR cflfT t ? 

, (a) - 3 

(b) 3 

(c) 6 

(d) 12 

32. ~ a, b 3m: c (a > 0, c > 0) GP 'ij t, 
m tt4lcfi(OI ax2 + bx + c = 0 ~ ~ 'ij 

PtkiR-lf©a 1R ~ ~: 

2. tt'11cfi(OI ~ ~ cfiT 3W"ffi 1 : CO t 

~co~cfiT~~tl 

3. e<fl.go1 iii ~ 'fiI 'j'l'i'hl'I ( :: J 
t1 

~ ~ 'ij ~ chT-i-~ ~ t ? 

(a) ~ 1 am: 2 

(b) ~ 2 3ITT: 3 

(c) ~ 1 am: 3 

(d) 1, 2 am: 3 

Previous Pathshala



[

sin20 2 sin
2 

0 - 1 OJ 
29. If A= cos20 2sin0cos0 0, then 

0 0 1 

which of the following statements 
is I are correct ? 

1. A- 1 = adjA 

2. A is skew-symmetric matrix 

Select the correct answer using th~ 
code given below : 

(a) 1 only 

(b) 1 and 2 

(c) 1 and 3 

(d) 2 and 3 

30. What is the coefficient of x10 in the 

( 2)20( 2 1 )-
5 

expansion of 1- x 2- x - x2 ? 

(a) -1 

(b) 1 

(c) 10 

( d) Coefficient of x 10 does not exist 

13 

31. If the 4th term in the expansion of 

( mx + : ) n is % , then what is the value 

of mn? 

(a) -3 

(b) 3 

(c) 6 

(d) 12 

32. If a, band c (a> 0, c > O)are in GP, 
then consider the following in respect 
of the equation ax2 + bx + c = 0 : 

1. The equation has imaginary roots. 

2. The ratio of the roots of the 
equation is 1 : co where co is a 
cube root of unity. 

3. The product of roots of the 

. : (b2J equation 1s 
02 

. 

Which of the statements given above 
are correct ? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

A - RRAN-B-MTH 
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33. ~ x ~ wm ~ lWTT ~ ~ 
.x2+m.x+n~ ~ t m Pt1-<1fM@a 
~ cfiT-f-~ ~ t ? 

1. m~~t 
2.n~~t 

~~Tft(~cfifffl"9)\~~ 

~: 

(a) ~1 

(b) ~2 

(c) 1 3W 2 GFIT 

(d) -, m 1,-, W 2 

34. (x+y)2n+l(x-y)2n+l ~ ~ >RRUT ~ 

"""q,ij q;r >il•l'h<il ~J:'11 i I (::J <li1 

lWf ~ t ? 

(a) 1 · 

(b) 2 

(c) 4 

(d) 8 

35. llR ~ A= {l, 2, 3, 4, 5} 3W 
B= {6, 7} t I A~ B"'R 6ll'i>€§1Gcfi ~ 
~ m§7TT ~ t ? 

(a) 10 

(b) 20 

(c) 30 

(d) 32 

RRAN-B-MTH - A 14 

36
_ ·✓]cosl0°-sinl0° ~ ~ t ? 

sin25°cos25° , 

(a) 1 

(b) ✓3 

(c) 2 

(d) 4 

I 

37. (sin9° - cos 9°)~ ~ t? 

(b) - -Js-"13 
2 

38. ~ ~ ~ ABC#, •sin3A + sin3B+ 

sin3C = 3sinA sinB sinC, m ~m:fo1cfi 

· ab c 

b c a cfiT lWf ~ t, ~ a·, b, c 

c a b 

(a) a+ b + c 

(b) ab + be + ca 

(c) (a+ b)(b + c)(c + a) 

(d) 0 
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33. If x2 + mx + n is an integer for all 
integral values of x, then which of the 

· following is/ are correct? 

1. m must be an integer · 

2. n must be an integer 

Select the correct answer usmg the 
· code given below : 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

( d) Neither 1 nor 2 

34. In a binomial expansion of 
(x + y)2n+l(x-y)2n+l, 

the sum of middle terms is zero. What 

is the value of ( ;: ) ? 

(a) 1 

(b) 2 

(c) 4 

(d) 8 

35. Let A= {l, 2, 3, 4, 5} and B = {6, 7}. 
What is the number of onto functions 
from A to B? 

(a) 10 

(b) 20 

(c) 30 

(d) 32 

15 

36
. Wh t . ✓3 cosl0°-sinl0° 

1 
t ? 

. a 1s ------ equa o . 
sin25°cos25° 

(a) 1 

(b) ✓3 

(c) 2 

(d) 4 

37. What is (sin 9° - cos 9°) equal to? 

✓s-~ . 
(a) ---

2 

38. If in a triangle ABC, sin3 A + sin3 B + 
sin3C = 3sinA sinB sinC, then what is 

a b c 

the value of the determinant b c a ; 

c a b 

where a, b, c are sides of the triangle ? 

(a) a+ b + c 

(b) ab + be + ca 

(c) (a+ b)(b + c)(c + a) 

(d) 0 

A - RRAN-B-MTH 

Previous Pathshala



39. ~ cos-1x = sin-1x, m Pi""1fM<ga -ij 

m-m~t? . 
(a) . X = 1 

1 
(b) x=-

2 

1 
(c) x=-

✓2 

1 
(d) x=-

-./3 

40. (sin0 - cos0)2 = 2 ~ ~ ~ ~ 
~t, ~-n<0<n? 

(c) "'qR 

(a) 2 

(b) ✓2 

(c) 1 

1 
(d) ✓2 

RRAN-B-MTH·- A 16 

42. 15+cot2(:.-2coC1 3) ~ ~ 
t? 
(a) 1 

(b) 7 

(c) 8 

(d) 16 

43. sinlO°·sin5O° + sin5O°·sin25O° + 

sin25O°·sinlO° ~ 1{R ~ ~ t ? 

(a) 
1 

4 

3 -
(b) . 4 

(c) 3sin1O° 
4 

(d) _ 3cosl0° 
4 · 

(a) 
1! --
4 

(b) 
7r 
-
4 

(c) -( a
2-b2J tan l 

a2+ b2 

(d) tan-1( 2ab ) 
a2+ b2 
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39. If cos-1x = sin-1x, then which one of 
the following is correct ? 

(a) X = 1 

1 
(b) x=-

2 · 

(c) 
1 

x=-
✓2 

(d) 
1 

x=-
✓3 

40. What is the number of solutions of 
(sin0- cos0)2 ~ 2 where -n: < 0 < n:? 

(a) Only one 

(b) Only two 

(c) Four 

( d) No solution 

41. ABC is a triangle such that angle 

cosA+-cosB C = 60°, then what is -----,----,--

(A~ B) 
equal to? 

(a) 2 

(b) ✓2 

(c) 1 

1 
(d) -
✓2 

cos -2-

17 

42. What is l5+cot2
( :-2coC13) 

equal to? 

(a) 1 

(b) 7 

(c) 8 

(d) 16 

43. What is the value of sinl0°·sin50° + 
sin50°·sin250° + sin250°·sin10° equal 
to? 

(a) 
1 

4 

(b) 
3 

4 

(c) 
3sin10° 

4 

(d) -
3cosl0° 

4 

_44. What is tan-•(;)-tan-•(:::) 
equal to? 

(a) 

re 
(b) 4 

re 
4 

A-RRAN-B-MTH 

Previous Pathshala



45. Pti:;iR,rna -ij ~ ~ _qfU~Ri ~ 3Wfu, 
~'-11 c:fi(OI 

(cos/3 - l)x2 + (cosf3)x + sin/3 = o-ij 
x "c:fi"T /Je[O, ,ir] ~ ~ ~ clltaMc:fi ~ 
t ? 

(a) l -cos/3 < 0 

(b) 1 - cos/3 ~ 0 

( c) 1 - cos/3 > 0 

(d) l -cos/3 ~ 0 

46. ~ ABC-ij, _,µJ = 16 cm, BC= 63 cm 

. 31RAC=65 cmt I 

. cos 2A + cos 2B + cos 2C ifiT lfR ~ 

t? 
(a) -1 

(b) 0 

(c) 1 

(d) 76 
65 

......A,. 1 ~~ 5n 
47. <-tlG /(0)=-- "11<.. a+/3=-, 
. l+tan0 4 

ell f(a )f(/3) cfil 1fR Wt ? 

(a) 

(b) 1 
2 

(c) 1 

1 

2 

(d) 2 

RRAN-B-MTH -A 18 

48. ~ tana 3lR tan/3 ~'-llc:fi(OI 

x2 -6x+8=0~ ~ t m 
cos(2a + 2/3) ifiT lfR W t" ? 

(a) 13 
75 

(b) 13 
85 

(c) _!2. 
85 

(d) 19 
85 

49. tan 65° + 2tan 45° - 2tan 40° - tan 25° 

ifiT lfA w t- ? 

(a) 0 

(b) 1 

(c) 2 

(d) 4 

50. Pti:;iR-lrna ~ ~ ITTR ~: 

L ~ ~ ABC-ij, ~ 
. cotA·cotB·cotC>O, m ~ ~ 

rll.-ich)oi)~ ~ t I . 

2. ~ ~ ABC-ij, ~ 
tanA·tanB·tanC>O, m ~ ~ 
3lfucfi~~t1 

~ ~ -ij ~ ~-m/~-~ ~ 
tit? 
(a) ~1 

(b) ~2 

(c) 1 3IR 2 GFTT 

( d) ., m 1, -, ~ 2 
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45. Under which one of the following 
conditions does the equation 
(cos/3 - l)x2 + (cosf3)x + sin/3 = 0 

. in x have a real root for j)E[O, n]? 

(a) l -cos/3 < 0 

(b) l-cos/3 ~ 0 

(c) l -cos/3 > 0 

(d) 1 - cos/3 :::= 0 

46. In a triangle ABC, AB = 16 cm, BC = 
63 cm and AC= 65 cm. What is the 
value of cos 2A + cos 2B + cos 2C? 

(a) -1 

(b) 0 

(c) 1 

(d) 76 
65 

1 Sn 
47. If J(0)=-- and a+/3=-, 

· l+tan0 . 4 
then what is the value off(a)f(/3)? 

(a) 

(b) 1 
2 

(c) 1 

(d) 2 

1 

2 

19 

48. If tana and tan/3 are the roots of 'the 
equation x2 - 6x + 8 = 0, then what is 
the value of cos(2a + 2/3) ? 

(a) 13 
75 

13 
(b) 85 

17 
(c) 85 

19 
(d) 85 

49. What is the value of 
tan 65° + 2tan 45° - 2tan 40° - tan 25° ? 

(a) 0 

(b) 1 

(c) 2 

(d) 4 

50. Consider the following statements : 

1. In a triangle ABC, if 
cotA·cotB·cotC > 0, then the tri­
angle_ is an acute angled triangle. 

2. In a triangle ABC, if 
tanA·tanB-tanC> 0, then the tri­
angle is an obtuse angled triangle. 

Which of the statements given above 
is/ are correct ? 

(a) 1 only_ 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

A - RRAN-B-MTH 
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51. ~ ~ .x2+y2+2x+6y+ 1 =0cfil ~ 
(a, b)t° am~ ct°, m a2+b2+c2 

cfiT llR ~ t° ? 

(a) 19 

(b) 18 

(c) 17 

(d) 11 

52. ~ (1, -1, 2) 3TI\ (2, 1, -1) ~ 
· x2 + y2 + z2 + 2ux + 2vy + 2wz - 1 = 0 

~ oqm ~ ~ ~ t m ·u+v+w 

~~t? 

(a) -2 

(b) - 1 

(c) 1 

(d) 2 

53. xy-~ ~ ~4'cfr(OI x = 5 ~ Pl<¥-fqa 
~mcfiT~t 

(b) ~ 

(c) GT 

RRAN-B-MTH - A 

54. ~ ~ 2x-3y+6z+4= 0~ 

~ (~) ~ ~-cfi1~1~'1 

< l, m, n > t m 49(7 /2 + m2 - n2) <fif 

llR~t°? 

(a) 0 

(b) 1 

(c) 3 

(d) 71 

55. <1, -1, 2) ~ ~ ~ ~ m ~ 
~-~ <3, 2, 2> t ~ 
x+2y+3z= 18~ ~ t° I WT am 
~ cfiT siRt'o0.G ~ ~ t°? 

(a) (4, 4, 1) 

(b) (2, 4, 1) 

(c) (4, l, 4) 

(d) (3, 4, 7) 

56. ~ (1, 0, 0), (0, 1, 0) 3lR (0, 0, 1) ~ 

~-~ ~ cfiT ~-~ (origin to · 

the plane)~~~ pt°, m ·3p2~ 
~t? 

(a) 4 

(b) 3 

(c) 2 

(d) 1 
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51. If (a, b) is the centre and c is the radius 
of the circle x2 + y2 + 2x + 6y + 1 = 0, 
then what is the value of a2 + b2 + c2 ? 

(a) 19 

(b) 18 

(c) 17 

(d) 11 

52. If (1, -1, 2) and (2, 1, -1) are the end 
points of a diameter of a sphere 
x2 + y2 + z2 + 2ux + 2vy + 2wz - 1 = 0, 
then what is u + v + w equal to ? 

(a) -2 

(b) -1 

(c) 1 

(d) 2 

53. The number of points represented by 
the equation x = 5 on the xy-plane is 

(a) Zero 

(b) One 

(c) Two 

( d) Infinitely many 

21 

54. If< l, m, n > are the direction cosines of 
a normal to the plane 
2x - 3y + 6z + 4 = 0, 
then what is the value of 
49(712 + m2 - n2)? 

(a) 0 

(b) 1 

(c) 3 

(d) 71 

55. A line through (1, -1, 2) with direction 
ratios < 3, 2, 2 > meets the plane 
x + 2y + 3z = 18. What is the point of 
intersection of line -and plane ? 

(a) (4, 4, 1) 

(b) (2, 4, 1) 

(c) (4, 1, 4) 

(d) (3, 4, 7) 

56. If p is the perpendicular distance from 
origin to the plane passing through 
(1, 0, 0), (0, 1, 0) and (0, 0, 1), then 
what is 3p2 equal to ? 

(a) 4 

(b) 3 

(c) 2 

(d) .1 

A - RRAN-B-MTH 
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57. ~ ~ 00 ~ ~-chl~l~'1 < /, m, n > 

~~ I+ 2m + n = 0, 21- 2m + 3n = 0 ~ 

~ t en /2 + m2 - n2 cfiT +TR cflIT t ? 

(a) 1 
101 

29 
(b) 101 

41 
(c) 101 

(d) 92 
101 

58. m ~ "q"{ oo, x + 2y - 1 = o 3fu: 
2x· - y - I = 0 003TT ~ sifu~G ~ 
~ ~ ~ t 3m: ~Tqi 3le.TT cfiT 
A 3ffi Bo/~ ten AB~ mzf ~ 
cfif~wt? 

(a) 3x + y = IOxy 

(b) x + 3y = IOxy 

(c) 3x + y = IO 

(d) x + 3y = IO 

59. ~ - (-sin0, cos0) ~ ~ ~ cffffi 
~ 00 xcos0 + ysin0 = 9 o/ ~ ~ 
00 q;] ~4)cf>(OI cflIT t ? 

(a) xsin0 - ycos0 - I = 0 

(b) xsin0 - ycos0 + I = 0 

RRAN-B-MTH - A 22 

(c) xsin0 - ycos0 = 0 

(d) xcos0 - ysin0 + I = 0 

60. G1" ~ p 3fu: Q w y = 2x + 3 o/ wm 
t I ~ zyn ~ P 3ffi Q fcfim ~ 
~ R(I, 5) ~ 2 ~ ~ ~ o/ t I 

P3m:Q~~~~wi? 

61. ~ M- cm ~ G1" ~, 2x + Y - 3 = o 
3ffi 4x + 2y + 5 = 0 003TI o/ WIB t . 
en ~ cm ·cfif ~ cm ~ ~ w t ? 

(a) 6·05 

(b) 6· 15 

(c) 6·25 

(d) 6·35 
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57. If the direction cosines < /, m, n > of a 
line are connected by relation 
I + 2m + n = 0, 21 - 2m + 3n = 0, then 
what is the value of-/2 + m2 - n2 ? 

(a) 1 
101 

29 
(b) 101 

41 
(c) 101 

(d) 92 
101 

58. If a variable line passes through the 
point of intersection of the lines 
x + 2y - 1 = 0 and 2x - y - 1 = 0 
and meets the coordinate axes in 
A and B, then what is the locus of 
the mid-point of AB ? 

(a) 3x + y = 10.xy 

(b) X + 3y = 10.xy 

(c) 3x + y = 10 

(d) x + 3y = 10 

59. What is the equation to . the straight 
line passing through the point 
(-sin0, cos0) and perpendicular to the 
line xcos0 + ysin0 = 9? 

(a) xsin0 - ycos0 - 1 = 0 

(b) xsin0 - ycos0 + 1 = 0 

23 

(c) xsin0 - ycos0 = 0 

(d) xcos0 - ysin0 + 1 = 0 

60. Two points P and Q lie on line 
y = 2x + 3. These two points P and Q 
are at a distance 2 units from another 
point R(l, 5). What are the coordinates 
of the points P and Q ? 

61. If two sides of a square lie on the lines 
2x + y - 3 = 0 and 4x + 2y + 5 = 0, then 
what is the area of the square in square 
units? 

(a) 6·05 

(b) 6· 15 

(c) 6·25 

(d) 6·35 

A-RRAN-B-MTH 
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62.ABC~ ~ t ~A~ ~TI91 
(3, 5) l I AB 3fl"{ AC ~ ~ +l&f ~ . 

sfi+f~T: (-1, 2), (6, 4) 1R t I ~ ABC 

~~~~TT91omt? 

(8 11) 
(a) 3' 3 

(7 · 7) 
(b) 3' 3 

(c) ( 2, %) 

(d) (%, 2) 

63. ABClJ,cfi 4,_<1cti) 0ftll, t!Si~~I§, ~ t I 

Gf.TT ~ ~ AB 3fl"{ AC ~ 
7x - y - 3 = 0 3fl"{ X + y - 5 = 0 "9'\ ~ 

i,~~cfilurr#~ffl0t, 
c1Tcot0~~t? 

1 
(a) 3 

1 
(b) 2 

2 
(c) 3 

(d) 2 

64. q(cfrfll y- = 8x #, ~ "tR WIB ~ ~ 
icl?t ~ ~ 8 ~ t I HAR-lf©a 
#-« ~-m/~--« ~~tit? 

1. p ~ m~lTcfi (6, 4✓3) ~ ~ i 
2. q V-foill cliT ffifil "« P cliT ~ ~ 
s~t 

RRAN-B-MTH - A 24 

·(a) ~ 1 

(b) ~ 2 

(c) 1 3m: 2 Gl-.=fT 

(d) ~ "dl 1, ~ W 2 

65. ~ cl?t '3~~a, om t ~ ~ 3l&l ~ 
~ftit-«~-cti)-~~~ 
WT3TT ~ ~ cfiT -cti)-ur 90° t ? 

1 
(a) 3 

1 
(b) 2 

1 
(c) ✓3 

1 
(d) ✓2 

~ ➔ . I\ I\ ~ ~..\.... 

66. l=fR \'111"1'-!, a= i- j+K "11~ 
➔ I\ " "~ .......P. ➔ ➔➔ 
b=i+2j-k t> I <-11G ax(bxa)= 

at-f3J+yfc, m ~+ /3+ r cfiT +tR om 
t ? 

(a) 8 

(b) 7 
I 

(c) 6 

(d) 1 
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62. ABC is a triangle with A(3, 5). The 
mid-points of sides AB, AC are at 
(-1, 2), (6, 4) respectively. What are 
the coordinates of centroid of the 
triangle ABC ? 

'(a) (%; 131) 

(b) (f' ;} 
(c) ( 2, %) 

63. ABC is an acute angled isosceles 
triangle. Two equal sides AB and AC 
lie on tp.e lines 7x - y - 3 = 0 and 
x + y - 5 = 0. If 0 is one of the equal 
angles, then what is cot0 equal to ? 

1 
(a) -

3 

1 
(b) 2 

2 
(c) 3 

(d) 2 

64. In the parabola y- = 8x, the focal 
distance · of a point P lying on it is 
8 units. Which of the following state­
ments is/are correct? 

1. The coordinates of P can be 

2. The perpendicular distance of P 
from the directrix of parabola is 
8 units. 

25 

Select . the correct answer usmg the 
code given below : 

(a) 1 onlr 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

65. What is the eccentricity of the ellipse if 
the angle between the straight lines 
joining the foci to an extremity of the 
minor axis is 90° ? 

1 
(a) 3 

1 
(b) 2 

1 
(c) ✓3 

1 
(d) ✓2 

➔ A A ~ ➔ A A A 
66. Let a =i- j+K and b =i+2j-k. If 

➔ ➔ ➔ A A ~ 
a x(b x a)= ai-{3j+yK, then what 

is the value of a + f3 + r ? 

(a) 8 

(b) 7 

(c) 6 

(d) 1 

A - RRAN-B-MTH 
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· 67. ~ 2 ~ qftii101 cfiT ~ ~~T 2i ~ 
m~ n, 3}~~ n 3W4k ~~ 

3 4 
...... ~~.-Jcfi..,.....,~ ...... o1 0 ~ t m W ~T ~ ~ 

w i? 

(a) (1 , ✓2, 1) 

(b) (1, -✓2, 1) 

(c) (1, -✓2, -1) 

(d) (1, ✓2, -1) 

68. ~ ~-~ ~ ~ -ij Hki~roia ~ 
fcr-.m:~: 

1. ~ ~ ~ 1:ffur: ~-~, ~ ~ . 
300fur ~ ~ ~ t 

2. ~ 00 ~ 1:ffur: ~-~, ~ 
~T~Tt 

~ ~ -ij ~ cht.;-m/cht.;-~ ~ 

t/~? 
(a)~ 1 

(b) ~2 

(c) 1 3ITT: 2 GT"<TT 

( d) ., m 1, ., W 2 

69. fcfim ~T.1 ~ ~' 

➔ 

(a) 0 

(b) 1 
(c) 21 
(d) 3f 

RRAN-B-MTH - A 2.6 

70. +TR ~ 4 qftii 101 ~ ~ OOT d 3ITT: 
➔ q;)uy-1! 4 ~ ➔~.;\....➔ ➔ 
b 3 "ti\ 3WIB \:, C'II a "11'1.. a- b 

~ ~ cfiT cfilUT w t ? 

n 
(a) -

. 2 

n 
(b) -

3 

n 
(c) -

4 

n 
(d) 6 

71. +TR ~ Y1(x) 3ITT: Yz(x) ~ 

~Silcfr(OI dy = x ~ ~ ~ t I ~ 
dx 

Y1(0) = 0 3ITT: Y2(0) = 4, m ~ y 1(x) 

3ITT: yz(x) ~ ~@~G ~an cf?t ~ 
~ t ? 

(a)~~~ 

(b) ~~ 

(c) ~ ~ 

(d) ~ ~ ~ _;,m 
72. cfsfi y = eX(a cos.x + b sinx) ~ a 3ITT: b 

~ 3r-i=R t cITT H€-Na m cffiYrT 

~ ~Sllcfi(OI t 
d2 

(a) { +2y = 0 
dx 

d 2y dy 
(b) dx2 + 2 dx + 2 y = 0 

d 2y dy 
( C) dxz - 2 dx + 2 y = 0 

d2 
(d) ____L + y = 0 

dx2 
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67. If a vector of magnitude 2 units makes 
n . ◊ n . ~ 

an angle - with 2z , - with 3 J and an 
3 4 

I\ 

acute angle 0 with 4 k, then what are 

the components of the vector ? 

(a) (1, ✓2, 1) 

(b) (1, -✓2, 1) 

(c) (1, -✓2, -1) 

(d) (1, ✓2, -1) 

68. Consider the following in respect of 
moment of a force : 

1. The _moment of force about a 
point is independent of point of 
application of force. 

2. The moment of a force about a 
line is a vector quantity. 

Which of the statements given above 
is I are correct ? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

69. For any vector 1, what is 
➔ A ➔~➔/\➔ I\ ➔ "- ➔ I\ 

(r ·i)(r xi J+(r ·j)(r xj)+(r • k)(r x k) 

equal to? 

➔ 

(a) 0 
➔ 

(b) r 

(c) 21 
(d) 31 

27 

➔ ➔ 
70. Let . a and b are two vectors of 

magnitude 4 inclined at an angle n ; 
. 3 

then what is the angle between 
➔ ➔ ➔ 
a and a- b ? 

n 
(a) 

2 

n 
(b) 

3 

'lt 
(c) 

4 

n 
(d) 

6 

71. Let y 1 (x) and yi(x) be two solutions of 

the differential equation dy = x. If 
dx 

y 1 (0) = 0 and yi(O) = 4, then what is the 

number of points of intersection of the 
curves y 1 (x) and yi(x) ? 

(a) No point 

(b) One point 

( c) Two points 

( d) More than two points 

72. The differential equation, representing 
the curve y = lf(a cos.x + b sinx) where 
a and b are arbitrary constants, is 

d2 
(a) ; +2y = 0 

dx 

d 2 d 
(b) -----L+22+2y=O . 

dx2 dx 

d 2y dy 
(c) dx2 -2 dx +2y = 0 

d2 
(d) _____L + y = 0 

dx2 

A - RRAN-B-MTH 
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73. m f(x) =ax-b 3lR g(x) = cx+d ~ 

WliR t fcfi f(g(x)) = g(f (x) ), <TT 

Hki~f@a -ij ~ ~-m ~ t ? 

(a) f(d) = g(b) 

(b) f(b) + g(d) = 0 

(c) f(a) + g(c) = 2a 

(d) f(d) + g(b) = 2d 

74. fl (3sinx-sin3x)cos2xdx ~ 
-1 

~i? 

1 
(a) --

4 

(b) 0 

1 
(c) 

2 

1 
(d) -

4 

7 5. ~ ~ 4) cfr(O I 

(a) 2, 2 

(b) 2, 3 

(c) 5, 2 

(d) 2, · 5 

RRAN-B-MTH - A 28 

76. m dy = 2exl, y(O) =_!_<TT 
dx 2 

4y2(2-eX) ~ ~ t? 
(a) 1 

(b) 2 
(c) 3 

(d) 4 

77. lTT,f ~ p = J: 1cx)dx 3IT\ 

q = f:lf(x)ldx t I ~ f(x) = e-x, m 
Hki~f@a -ij ~ ~-m ~ t ? 

(a) p = 2q 
(b) p = -q 
(c) 4p = q 
(d) p =q 

1t . 

12 a + Slll X dx A-,..,.:::.. =-r.::r.r 78. --. --- 19'1t19'1 .,,,,.,,, 
o 2a + smx + cosx 

1C 
(a) 4 

1C 
(b) 2 

·cc) 1 
(d) 0 

79. b cfiT ~ ~ llR ~ t ~ ~ 
3 

~ 16x -4bx2 + x cfi1 x > 0 --qftm -ij 
3 

-, -al ~ llR t 3ffi: ., -m ~ 
+rR t ? 
(a) 0 < b < I 
(b) l<b<2 
(c) b > 2 
(d) 0 ~ b < I 
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73. If f(x) = ax - b and g(x) =ex+ d are 

such that/(g(x)) = g(j(x)), then which 
one of the following holds ? 

(a) f(d) = g(b) 

(b} f(b) + g(d) = 0 

(c) f(a) + g(c) = 2a 

(d) f(d) + g(b) = 2d 

. l . 
74. What is J (3sinx-sin3x)cos2xdx 

-1 

equal to? 

(a) 

(b) 0 

1 
(c) 2 

1 
(d) -

4 

1 

4 

75. What are the order and degree respec­
tively of the differential equation 

(a) 2, 2 

(b) 2, 3 

(c) s, 2 

(d) 2, 5 

29 

76. If dy = 2exy3, y(O) = .!. then what is 
dx 2 

4y2(2- ex) equal to ? 

(a) 1 

(b) 2 

(c) 3 

(d) 4 

77. Le~ p = s: f(x)dx and q = s:lf(x)ldx. 

If f(x) = e-x, then which one of the 
following is correct ? 

(a) p = 2q 

(b) p = -q 

(c) 4p=q 

(d) P = q 

78. What is f "I a+ sinx dx equal 
o 2a + sinx + cosx 

to? 

n 
(a) 4 

n 
(b) 2 

(c) 1 

(d) 0 

79. The non-negative values of b for 
3 

which the function 
16

x - 4bx2 + x ha:s 
3 

neither maximum nor minimum in the 

range x > 0 is 

(a) 0 < b < I 
(b) 1 <b<2 

(c) b > 2 

(d) O!S.b< 1 

A - RRAN-B-MTH 
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1 1 
. 80. /(x) = ✓lxl-x 3IT{ g(x) = ✓x-lxl 

~ ~ # HA~Rsia # ~-m ~ 
t ? 

(a) /(x) 911" "¥9 mer t 3ITT: g(x) cfiT 

m mer "%1 t 

(b) /(x) 911" m mer .:im t 3ITT: g'(x) 

911" "¥9 mer t 
(c) /(x) 3W g(x) ~ mer Q,cfi~iil'1 i 

(d) /(x) 3W g(x) 911" m mer "%1 t 

3ll1t 3lR 9ffi ~ (02) ~-.mn ~ ~ 
HA~Rsia "CR fcRR ~ : 

WIT~ t ~ f 3cosx+4sinx dx= 
· 2cosx+5sinx 

(a) 7 

(b) 13 

(c) 17 

(d) 26 

ax f3 · 
-+-lnl2cosx + 5sinxl + c 
29 29 

82. /3 911" 1lR W t ? 

(a) 7 

(b) 13 

(c) 17 

(d) 26 

RRAN-B-MTH-A 30 

3ll1t 3lR 9IB ~ (02) ~~n ~ ~ 
HA~Rsia "CR fcRR ~: 

1lR ~ f(x) = ~; (x> 1) 
lnx 

83. HA~Riia ~ "CR fcRR ~ : 

1. /(x) 3@"{@ (e, co)# cJ$n.; t 
2. f(x) 3@"{@ (1, e) # 0miil'1 t 
3. 9/n7 > 7/n9 

~ ~ # ~ ffl-~ ~ i ? 

(a) ~ 1 3W 2 

(b) ~ 2 3W 3 

(c) ~ 1 3W 3 

(d) 1, 2 3W 3 

1. f"(e) =} 

2. f(x), x = e "CR ~14'4 ~ 1lR 

>ITTT cfi@ t 
3. f(x) 911" ~ 14'4 ~ +TR e t · 
~ ~ # ~ ffi-~ ~ i ? 

(a) ~ 1 3W 2 

(b) ~ 2 3W 3 

(c) ~ 1 3ltt 3 

(d) 1, 2 3fu: 3 
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80. Which one of the following is correct 

. f 1 m respect o f(x) = ~ and 
-vlxl-x 

g(x)- ~? 
x-lxl 

(a) f(x) has some domain andg(x) has 
no domain 

(b) f(x) has no domain and g(x) has 
some domain 

(c) f(x) and g(x) have the same 
domain 

(d) f(x) and g(x) do not have any 
domain 

Consider the following for the next two (OZ) 
items that foll_ow : 

. f 3cosx + 4 sinx dx Given that ----- = 
2cosx+5sinx 

ax +1-1n-l2cosx+ssinxl+c 
29 29 

81. What is the :value of a ? 

(a) 7 

(b) 13 

(c) 17 

(d) 26 

82. What is the value • of f3 ? 

(a) 7 

(b) 13 

(c) 17 

(d) 26 

31 

Consider the following for the next two (02) 
items that follow : 

X 
Let f(x) = -; (x> 1) 

lnx 

83. Consider the following statements : 

1. f(x) is increasing in the interval 
(e, ro) · 

2. f(x) is decreasing in the interval 
(1, e) · 

3. 9ln7 > 7ln9 

Which of the statements given above 
are correct ? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

84. Consider the following statements: 

1 
1. f"(e) =e 

2. f(x) attains local minimum value 
at x = e 

3. A local minimum value of /(x) 
IS e 

Which of the statements given above 
are correct ? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

A - RRAN-B-MTH 
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3lm m ~ GT (02) ~TT ~ ~ 
Hl-.if<:1 rna ~ fcRm: ~ : 
+JR~ en- ~f(x) 3ITT:g(x)W Wfil{ t 
fcfi g(x) = x _ _!_ am: f o g( x) = x3 - _!__. 

X x3 

85. g[f(x)- 3x] ~ ~ t ? 

. 3 1 
(a) X --

X3 

(c) 2 1 
X --

x2 

(d) x2+_1 
x2 . 

86.f'(x) ~ ~ t ? 

2 
(a) - x3 

2 
(b) 2x+-3 . 

X 

(c) 6x+3 

(d) 6x 

3lm m <fIB GT (02) ~TT ~ ~ 
Pil-.iR:lrna ~ ~ ~ : 

· +JR ~ f(x) = lxl + 1 am: g(x) = [x]-1, 

~[.]~~~ti 

+JR ~ h(x) = f(x) 
g(x) 

87. Hl-<1R-1rna ~ ~ fcRm: ~ : 
1. f(x) ~ x < 0 ~ ~ 6lc4Cfi&Fi14 ~ 

2. g(x), X = 0·0001 °IR tR@ t 
3. g{x) cfiT X = 2·5 ~ 6fqqii;,1Zij 1 t 

RRAN-B-MTH -A 32 

~ ~ -ij ~ ffl-~ ~ t ? 

·ca) ~ t 3ITT: 2 

(b) ~ 2 am: 3 

(c) ~ 1 am: 3 

(d) 1, 2 am: 3 

88. lim h(x) + lim h(x) ~ ~ t ? 
x➔O~ x➔O+ 

3 
(a) --

2 

1 
(b) --

2 

1 
(c) -

2 

3 
(d) -

2 

3lm 3lR <fIB GT (02) ra~TT ~ ~ 
Hl-<1f~rna ~ fcRm: ~ : 

f
a+IOOn 

l=fFf ~ <p(a)= a lsinxldx 

89. <p(a) ~ ~ t ? 

(a) 0 

(b) a 

(c) 100a 

· (d) 200 

90. <p'(a) ~ ~ -t ? 

(a) 0 

(b) 7t . 

(c) 100 

. (d) 200 
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Consider the following for the next two (02) 
items that follow: 

Let/(x) and g(x) be two functions such that 

1 3 1 g( x) :::; x - - and f o g( x) :::; x - -
3

• 
X X 

85. What is g[f(x) _.:.. 3x] equal to? 

3 1 (a) X --
X3 

(b) x3+_!_ 
x3 

(c) 2 1 
X --

x2 

(d) 
2 1 

X +-
x2 

86. What is /" (x) equal to ? 

2 
(a) . 3 

X 

2 
(b) 2x+-

x3 

(c) 6x+3 

(d) 6x 

Consider the following for the next two (02) 
items that followr: 

Let/(x) = lxl + 1 and g(x) = [x]- 1, where[.] 
is the greatest integer function. 

Let h(x) = f(x) 
g(x) 

87. Consider the following statements: 

l. f(x) is differentiable for all x < 0 

2. g(x) is continuous at x = 0·0001 

3. The derivative of g(x) at x = 2·5 
is 1 

33 

Which of the statements given ·above 
are correct ? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

88. What 1s lim h(x) + lim h(x) equal 

to? 

(a) 

(b) 

1 
(c) 2 

·3 
(d) 2 

3 

2 

1 

2 

x➔O- x➔O+ 

Consider the following for the next two (02) 
items that follow : · 

f
a+IOOtr 

Let ({)(a)= a jsinxjdx 

89. What is <p(a) equal to ? 

(a) 0 

(b) a 

(c) 100a 

(d) 200 

90. What is <P'(a) equal to? 

(a) 0 

(b) 7t 

(c) 100 

(d) 200 

A - RRAN-B-MTH 
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m &R ~ GT (02) ~TT ~ ~ 
Pt&.1R-lf<sc1 -q-{ fcr.m: ~ : 
1:% 6lc:tcfiWth~ ~ f(x) cfiT ~ 14'll di fucfic1il 

ll"Ax=O-q-{t°I 

1TT'1 ~y=2f(x)+ax-bt° I 

91. Pt&.1R-lf<sc1 ~ ~ ~-m/~-~ ~ 
t/~? 

1. /'(O) = 0 

2. f"(O) < 0 

~ ~ ~ ~ cfiT wwr cg~~­

~: 

(a)~ 1 

(b) ~2 

Cc) 1 am: 2 GF11 
(d) -;r m 1, -;r tt 2 

92. Pt&.1fftf@a ~ -u ~ ~ ~Y ~ 
X = 0 -q-{ ~ ~ 1TT'1 t ? 

(a) a> 0, b = 0 

(b) ~ b 3ITT: a=O ~ ~ 

(c) ~ ~ b > 0 ~ ~ 

(d) ~ a 3ITT: b=O ~ ~ 

m 3lR ~ GT (02) ~TT ~ ~ 
Pt&.1 R-l Rsa -q-{ fcr.m: ~ : 
m-;r ~f(x)=lx-11,g(x)=[x] 3lR 
h(x) = f(x)g(x) ~ [.] ~fucfic1il ~ ~ 
t, 

0 . 
93. f_

1
h(x)dx ~ ~ t ? 

3 
(a) --

2 

(b) -1 
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(c) 0 

1 
(d) -

2 

94. f:h(x)dx ~ ~ t ? 

3 
(a) --

2 

(b) -1 
(c) 0 

1 
(d) -

2 

m &R ~ GT (02) ~n ~ ~ 
Pt&.1 R-l Rs a -q-{ fcr.m: ~ : 

J dx 1 
1TT'1 ~ ✓x+1 ~=a(x+1)

2 + x+l- x-1 . 

95. a "cfif lfR ~ t" ? 

1 
(a) -

3 

2 
(b) -

3 
• (c) 1 

4 
(d) -

3 

96. /3 "cfif 1TT".f ~ t° ? 

2 
(a) -3 

1 l 

(b) . -3 

1 
(c) 3 

(d) 2 
3 

l. . 
P(x-1) 2 +c 
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Consider the following for the next two (02) 
items that follow : 

A differentiable function J(x) has a local 
maximum at x = 0. Let y = 2f(x) + ax- b. 

91. Which of the following is/are correct? 

1. f'(0) = 0 

2. f"(O) < 0 

Select the correct answer usmg the 
code given below : 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

92. The function y has a relative maxima 
at x= 0 for 

(a) a> 0, b = 0 

(b) for all b and a = 0 

(c) for all b > 0 only 

( d) for all a and b = 0 

Consider the following for the next two (02) 
items that follow : 

Letf(x) = lx-1I, g(x) = [x] and 
h(x) = f(x)g(x) where [.] is greatest integer 
function. 

93._ What is ·s~l h(x)dx equal to ? 

(a) 
3 

2 

(b) - 1 

35 

(c) 0 

1 
(d) 2 

94. What is s:h(x)dx equal to? 

(a) 
3 

2 

(b) -1 

(c) 0 

1 
(d) 2 

Consider the following for the next two (02) 
items that follow : 

J 
dx .l 

Let ✓x+1 ~=a(x+l)2 + 
x+l- x-1 

.l 
/J(x-1) 2 +c 

95. What is the value of a ? 

1 
(a) -

3 

2 
(b) 3 

(c) 1 

4 
(d) · 

3 

96. What is the value of /3 ? 

(a) 

(b) 

1 
(c) 3 

2 
(d) 3 

2 

3 

1 

3 

A-RRAN-B-MTH 
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m :m q@ ~ co2> ~.:mn ~ ~ 
HkiR-lma ~ ~ ~ : 

~x2+_v2-2x=O~, Wy=x~Glrffl 
-ij f4'141Md ~ ll<IT t I 1fFf ~ Ai, A2 

~T: -zycf 31R~rffl~ ~ti 

97. Ai cfiT "llR W t ? 

(a) 

(b) 

(c) 

(d) 

n-2 

4 

n+2 
4 .. 

3n-2 

4 

3n+2 

4 

98. 2(Ai + A2) cfiT "llR W t ? 
Ai -3A2 

(a) 1t 

(b) 1 

(c) -1 -

(d) -1t 

m :m q@ ~ (02) ~-n~it ~ ~ 
HkiR-lma ~ ~ ~ : 

· . 1fFf ~ 3/(x)+ t( !) = ! +1 

99.f(x) ~ ~ t"? 

1 X 1 
(a) ---+-

8x 8 4 

3 X 3 
(b) ---+-

8x 8 4 
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3 X 1 
(c) -+-+-

8x 8 4 

3 X 1 
(d) ---+-

8x 8 4 

100. 8 J: f(x)dx ~ ~ t" ? 

(a) ln(8✓e) 

(b) ln(4✓e) 

(c) In 2 

(d) In 2-1 

101. ~~ -ij 5~ 31R4 ~ ~ i, ~ 
0lfRfi llliR9<h ~ ~ GT ~ H<hl<1dl 

t I W >ll~<hdl tfcn~~~~"tl" 
~~m? 

1 
(a) 6 

5 
(b) 108 

4 
(c) 9 

5 
(d) 18 

102. ~ ~ lll~<h ~ (x) ~ m cfiT 

~cgmt~~53ffi 
. ~ 4 t 3m: 523P(X= 3) = A-4\ m 
A cfil llR cflIT t ? 

(a) 3 

(b) 5 

(c) 23 

(d) 25 
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Consider the following for the next two (02) 
items that follow : 

The circle x2 + y- - 2x = 0 is partitioned by 
line y = x in two segments. Let A 1, A2 be 
the areas of major and mmor segments 
respectively. 

97. What is the value of A 1 ? 

(a) 

(b) 

(c) 

(d) 

n-2 

4 

n+2 

4 

3n-2 

4 

3n+2 

4 

. 2(A1 + A2 ) 
98. What 1s the value of -~~- ? 

A1 -3A2 

(a) 7t 

(b) 1 

(c) -1 

(d) -1t 

Consider the following for the next two (02) 
items that follow : 

Let 3/(x)+ t(!) = ! +1 

99. What is f(x) equal to? 

1 X 1 
(a) ---+-

8x 8 4 

3 X 3 
(b) ---+­

Sx 8 4 

37 

3 X 1 
(c) -+-+-

8x 8 4 

3 X 1 
(d) ---+­

Sx 8 4 

. J2 100. What 1s 8 
1 
f(x)dx equal to? 

(a) ln(s✓e) 

(b) ln(4✓e) 

. (c) In 2 

(d) In 2-1 

101. A bag contains 5 black and 4 white 
balls. A man selects two balls at 
random. What is the probability that 
both of these are of the same colour ? 

1 
(a) 6 

5 
(b) 108 

4 
(c) 9 

5 
(d) 18 

102. If a random variable (x) follows 
binomial distribution with mean 5 
and variance 4, and 523 P(X = 3) = A-4\ 
then w:hat is the value of A ? 

(a) 3 

(b) 5 

(c) 23 

(d) 25 

A - RRAN-B-MTH 
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103. W (-4, 1), (-1, 2), (2, 7) 3fu: (3, 1) ~ 

y cfiT x ""CR "BlTT~ 00 y = a + bx >fTTT 

~ ~ t aT2a+ 15bcfif l=fRW t? 
(a) 6 

(b) 11 

(c) 17 

(d) 21 

104. llR ~ x + 2y + 1 = 0 3fu: 
2x + 3y + 4 = 0 en ~ ~ t '5f1" 

fcRft-~ W ~ 9Rcfi~d ~ ~ t I 

~ 0 ~ Gl'TT ~ ~ ~1ch'l 01 t "ill 
488tan30 cfiT l=fR W t ? 

(a) 191 
. (b) 161 

(c) 131 

(d) 121 

105. ~ en ll l1,R9cfi ~ X 3fu: Y ~~ 

2X -3Y = 4 ~ ~ t 3m: X ~ 
5X+4Y 

mcfiT~cgcfTt~m'iffi 

(~<lmc.<) n = 10 3fu: p = _!_ t, "ill YcfiT 
2 

>RT(UT wt ? 

810 
(a) 

361 

9 
(b) 

19 

21 
(c) 

361 

121 
(d) 

361 

· 106. ~ a, b, c HP -ij t, "ill _l _ _ +-l­
b-a b-c 

38 

2 
i. b 

1 1 . 
2. -+­a C 

3 . .!.(.!. + .!. + .!.) 
2 a b c 

~~ ~~cfiTW-nil<R~~ 

~:. 

(a) ~ 1 

(b) ~ 2 

(c) ~ 3 

(d) 1, 2 3fu: 3 

107. ~ ~ m;f ~•l'llcil( ~ - 9':TT -ij 150, 

200, 250, 300 ~ m ma ~ GU ""CR 

~ t I llR~~~~-ij~ 

~~>ITTfcllf~WlR~Tm;f 

""CR fl ~, m;r qif m ma 3rnIB ~ 
~-ij (~) ~ t? 
(a) 210 
(b) 220 

(c) 230 

(d) 240 

108. ~ ~~ "TIRUPATI" ~ cfOTT (3TOO) 

"cfiT lll~cfi ~ ~ ~ ~' "ill cffi"T 

Sll~cfidl t Tcfi ~ . T ~TT (1~11cil( 

3mt? 
1 

(a) -
2 

1 
(b) -

4 

1 
(c) -

7 

1 
(d) 

14 
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103. From data (-4, 1), (-1, 2), (2, 7) and 
(3, 1 ), the regression line of y on x is 
obtained as y = a + bx, then what is the 
value of 2a + 15b? 

(a) 6 

(b) 11 · 

(c) 17 

(d) 21 

104. Let x + 2y + 1 = 0 and 2x + 3y + 4 = 0 
are two lines of regression computed 
from some bivariate data. If 0 is the 
acute angle between them, then what is 
the value of 488tan30 ? 

(a) 191 

(b) 161 

(c) 131 

(d) 121 

105. If two random variables X and Y are 
connected by relation 

2X - 3
Y = 4 and X follows Binomial 

5X+4Y 
distribution with parameters n = 10 and 

p = .! , then what is the variance of Y? 
2 

810 
(a) 361 

9 
(b) 19 

21 
(c) 361 

121 
(d) 361 

106. If a, b, c are in HP, then what is 

-
1-+-1- equal to? 

b-a b-c 

39 

2 
i.b 

1 1 
2. -+­

a C 

3 . .!(.!. + .! + .!) 
2 a b c 

Select the correct answer using the 
code given below : 

(a) 1 only 

(b) 2 only 

(c) 3 only 

(d) 1, 2 and 3 

107. An edible oil is sold at the rates 150, 
200, 250, 300 rupees per litre in four 
consecutive years. Assuming• that an. 
equal amount of money is· spent on oil 
by a family in every year during these 
years, what is the average price of oil 
in rupees (approximately) per litre? 

(a) 210 

(b) 220 

(c) 230 

(d) 240 

108. If the letters of the word "TIRUPATI" 
are written down at random, then what 
is the probability that both Ts are 
always consecutive ? 

1 
(a) 2 

1 
(b) 4 

1 
(c) 7 

1 
(d) 

14 

A - RRAN-B-MTH 
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109. lJA" ~ m = 77n t I ~ n cfi1· · 
<W[~cfi ~ "U ~ lflfcfil4 lJA" ~ 
\if@T t I W SU~cfiol t ~ m~ lJA" ~ 

~~~~1~? 

1 
(a) 2 

1 
(b) 3 

1 
(c) 4 

1 
(d) n 

110.~ 15 ~ ~ ~ "U crR -fm;r 
~ 41~cfi ~ -U ~ \ifIBT t I 
W ~l~cfidl t~~"U~~qi"f 
~01~\fi<'i ~ ms4T ~ ~ if ? 

1 
(a) 91 

2 
(b) 455 

1 
(c) 65 

6 
(d) 455 

3Wt m ~ cft (02) ~TT ~ ~ 
P!&.1fM{iia ~ feRR ~ : 

lfA"~A3TI\B~~W~tfcn 

P(AUB) ~ 0·75 ~ 0·125 ~ P(AnB) ~ 0·375 

t1 

RRAN-B-MTH - A 40 

111. P(A)+P(B) q;r ~ 1fA cfqT °t? 
(a) 0·625 

(b) 0·750 

(c) 0·825 

(d) 0·875 

112. P(A) + P(B) q;r ~ 1fA W t ? 

(a) 0·75 

(b) 1 · 125 

(c) 1 ·375 

(d) 1 ·625 

3Wt 3lR ~ cft (02) ~~TT ~ ~ 
P!&.1R:!furn ~ feRR ~: 

A, B 3TT\ C crR ~ W ~ t ~ . 
P(A) = 0·6,P(B) = 0·4,P(C) = 0·5,P(AUB) = 
0·8, P(AnC) = 0·3 3TT\ P(AnBnC) = 0·2 3ITT 
P(AUBUC) ~ 0·85. 

113. P(BnC) qi"[~ lJA" Wt? 

(a) 0· 1 

(b) 0·2 

(c) 0·35 

(d) 0·45 

114. P(BnC) qi"[~ lTT,f Wt? 

(a) 0· 1 

(b) 0·2 

(c) 0·35 

(d) 0-45 
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109. Let m = 7r. The index n is given a 
positive integral value at random. What 
is the probability that _the value of m 
will have 1 in. the units place ? 

1 
(a) -

2 

1 
(b) 3 

1 
(c) 4 

1 
(d) n 

110. Three different numbers are selected at 
random from the first 15 natural 
numbers. What is the probability that 
the product of two of the numbers is 
equal to third number ? 

1 
(a) 91 

2 
(b) 455 

1 
(c) 65 

6 
(d) 455 

Consider the following for the next two (02) 
items that follow : 

Let A and B be two events such that 
P(AUB) ~ 0-75 and 0· 125 ~ P(AnB) ~ 0·375. 

41 

111. What is the nurumum value of 
P(A) + P(B)? 

(a) 0·625 

(b) 0·750 

(c) 0·825 

(d) 0·875 

112. What is the maximum value of 
P(A) + P(B) ? . 

(a) 0-75 

(b) 1·125 

(c) 1 ·375 

(d) 1 ·625 

Consider the following for the next two (02) 
items that follow : 

A, B and C are three events such that 
P(A) = 0·6,P(B) = 0·4,P(C) = 0·5,P(AUB) = 
0·8, P(AnC) = 0·3 and P(AnBnC) = 0·2 and 
P(AUBUC) ~ 0·85. 

113. What is the nurumum value of 
P(BnC)? 

(a) 0· 1 

(b) 0·2 

(c) 0-35 

(d) 0·45 

114. What is the maximum value of 
P(BnC)? 

(a) 0· 1 

(b) 0·2 

(c) 0·35 

(d) 0·45 

A - RRAN-B-MTH 
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mm~GT(02)~TT~~ 
HJ.1R-lf<sc1 -q-( fcf<m: ~ : 

~ ~1c1 ~ cfi1" n ~ ~ \ilTcTT t I 
qill ~ qill ~ ~ 3fR ~ Sllfrtc:hc1I p t 
3m: qill ~ qill ~ ~ 3fR ~ SI I frt c:hcl I q t 
31Rp - q= ;

2 
t I 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

116. p + q cfiT llFf ~ t ? 

57 
(a) 32 

53 
(b) 32 

51 
(c) 32 

(d) 1 

m m ~ GT co2) ~~TT ~ ~ 
Hki R-1 Rsa -q-( fcf<m: ~ : 

1 2 3 n 

(a) 
2n+l _n+2 

2n-l 

(b) 
2n+1-n-2 

2n-l 
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(c) 
2n+l+n+2 

2n-l 

2n+l _n-2 
(d) 

2n 

2n+l_n-2 
(b) 

(d) 
2n+l _n+2 

m m ~ GT co2) ~TT ~ ~ 
Plki R-1 Rsa -q-( fcf<m: ~ : 
tti~cfi) ~ wm ~ 10 ~ ~ 1ITTf ~ 
~ 3lcfi 24, 47, 18, 32, 19, 15, 21, 35, 50 ~ 

41 i I 

119. ~ ~ 'tffq" ~ cfiT 1TTUf fi4·cfoM ~ 

t? 
(a) 4·8 

(b) 5.5 

(c) 6 

(d) 7·5 

120. ~ ~ 'tffq" ~ cfiT ~ ~ t ? 

(a) 14·6 

(b) 21 ·8 

(c) 25 ·2 

(d) 46·8 
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Consider the following for the next two (02) 
items that follow : 

An unbiased coin is tossed n times. The 
probability of getting at least one tail is p 
and the probability of at least two tails 
. 5 
is q and p - q = 

32 
. 

115. What is the value of n ? 

(a) 4 

(b) 5 

(c) 6 

(d) 7 

116. What is the value of p + q ? 

57 
(a) 32 

53 
(b) 32 

51 
(c) 32 

(d) 1 

Consider the following for the next two (02) 
items that follow : 

X; 1 2 3 ... n 

/; 1 2- I 2-2 ... 2--<n- l) 

117. What is ""Z; x;/; equal to ? 

2n+l_n+2 
(a) 

(b) 
2n+I -n-2 

43 

(c) 
2n+I +n+2 

2n-l 

(d) 
2n+I -n-2 

2n 

118. What is the mean of the distribution ? 

(b) 
2n+1-n-2 

2n+l _n--2 
(c) 

(d) 
2n+1-n+2 

Consider the following for the next two (02) 
items that follow : 

The marks obtained by 10 students in a 
Statistics test are 24, 47, 18, 32, 19, 15, 21, 
35, 50 and 41. 

119. What is the mean deviation of the 
largest five observations ? 

(a) 4·8 

(b) 5.5 

(c) 6 

(d) 7·5 

120. What is the variance of the largest five 
observations ? 

(a) 14·6 

(b) 21 ·8 

(c) 25·2 

(d) 46·8 
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